Cubic Graph T1

1. a. Show that x = 2 is a solution of the equation x*-x-6=0.
3 J )
(2P-1-b= 3-2-6= 8-8=0 /

b. The diagram opposite shows the graph of y = x> - x -6.

| /
i Write down the coordinates of point A. | ( pi ] 0) v [

ii Use the graph to explain why there is only one solution to the equation. x> -x-6=0.

The graph (rosses the X axis Onkjs ore, / |

2. a. Find the coordinates of point B. LO, —G) ‘/ |

b.
i What transformation changes the graph of y = x> - x -6 into the graphof y = x> - x ?

Tanslate & unitfs up v

ii Sketch the graph of y = x> - x on the diagram.

JJii What are the solutions of the equation x*-x=07? / |
Z 0N - 1 7
x(x"-1)=0 O !, -)
X(x+)(x=1) =0
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Cubic Graph | l 2

1. a. Show that x = 2 is a solution of the equation x*-x-6=0.
2-2-L:0 V///

G=2-6 20

b. The diagram opposite shows the~graph of y=x’=x-6.

.1 Write down the coordinates of point A. ((Q) 0 /

ii Use the graph to explain why there is only one solution to the equation. x*>-x-6=0.

The. e%bd‘iuq 15 fno¥ = mt,g and on)y intersecks the

¥-ax15 a¥ ow poink, so lYhams is Ohl}; ons_Soldtion, ‘/

2. a. Find the coordinates of point B. | (o 4 -;é) \/

b.
i What transformation changes the graph of y = x> - #C@) into the graph of y = x* - x

S\§d€ 0?‘ /4 1

ii Sketch the graph of y = x® - x on the diagram.

Iii What are the solutions of the equation x* - x =0?

v’ iy X:=0

P-1:0 O-D=0 (Vi
-1+ =0
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Cubic Graph | I 3
1. a. Show that x = 2 is a solution of the equation x> -x-6=0.

£
oy -b
a3-a2-¢30 ‘/ l

 B-a-p2p =60 G0
b. The diagram opposite shows the graph of y = x* - x 6.

o) /]

i Write down the coordinates of point A.

ii Use the graph to explain why there is only one solution to the equation. x> - x-6=0

Thegraﬁh croeseS the oo pnkyenel., / [

2. a. Find the coordinates of point B.

g-t) /]

b. .
i What transformation changes the graph of y = x* - x -6 into the graph of y=x> - x ?

T4 morec nek /
it / bu nehs M,IO 7

ii Sketch the graph of y = x> - x on the diagram.
ey ()
1 o
<To ’-731‘%»
Iii What are the solutions of the equation x* - x =0? O , __,, / 2
——
(x>

oc(vt ’)U)
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Cubic Graph

1. a. Show that x = 2 is a solution of the equation x°-x-6=0.

(2*2-b =0 _ /
£ 140=0
b=0

b. The diagram opposite shows the graph of y = x> - x -6.

i Write down the coordinates of point A. (2,0) /

ii Use the graph to explain why there is only one solution to the equation. x>-x-6=0.

R line INeYCeps the x-axis only at ane paing,so here s anly Dne//

SolAtioh ,one X' value, ’ /
2. a. Find the coordinates of point B. y= 0-00=0 (0,-6> N / l ‘
b.

i What transformation changes the graph of y = x® - x -6 into the graph of y =x>-x ?

yemain  he sany ‘/‘

ii Sketch the graph of y = x>~ x on the diagram, 2

7;8/' =

Iii What are the solutions of the equation x*-x=0? [ ‘ )
\, 7\ Al L
LREA7O o
, e =0 'g N
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Cubic Graph T5

1. a. Show that x = 2 is a solution of the equation x*-x-6=0.

2°-2-6=0 | \/ : {

§-1-6=0
&-6 = 0

-—

0=
b. The diagram opposite shows the graph of y =x*-x-6.

-

(2,0)

i Write down the coordinates of point A.

ii Use the graph to explain why there is only one solution to the equation. x* - x-6=0.

The line. passes thwaugn the, Xoxis only {n one
o giton. /

63—0—53493 ' ' ,
“b=y (0,-6) e I

2. a. Find the coordinates of point B.

b.
i What transformation changes the graph of y = x>~ x-6 into the graph of y = x> - x ?

y=x’~%-6 1y Deen dransladed op G units.-

ii Sketch the graph of y = x> - x on the diagram. 2_

(0/0) H\'(ﬂ §:_O_~‘

(1.0) (17 ®) -0

(L,6) (3,m) &0 6
- \

~1o

(334) (4.-40 24
(4 &0 v
lii What are the solutions of the equation x*-x=0?
(’ -\O>1 (‘O)o\})(EIOD 2'
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